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TEMEL OGRENME BECERILERI
TESTI
(THE BASIC LEARNING SKILLS
TEST)

3. ve 4. sorularda, I. gruptaki kiimelerin sekilleri birer
rakamla gosterilerek 1. gruptaki sayillar elde
edilmistir. Soru igsaretiyle belirtilen kiimenin hangi
sayiyla gosterildigini bulunuz.

In questions 3 and 4, the numbers in group Il stand
for the sets of figures in group I, when each figure has
been coded with a specific numeral. Find the number
which corresponds to the set of the figures indicated
by the question mark.

0 QA 965
eAN 157
0 o0 986
e { O 198
oe 816
oe(=?

A)816 B)157 C)986 D)198 E)965

e 0 (A 5864
deAD 5438
Ne( O 3568
QoAe 4835
AQ)e 8653
Neo=7
A) 3568 B) 5438 C) 5864

D) 4835 E) 8653

10.

X A B C
A B+5

B 2B+8

C 18

Yukaridaki carpma tablosunda A,B ve C harfleri
pozitif birer sayinin yerine kullanilmistir. Buna gore C
kagtir?

In the multiplication table above, the letters A, B and
C each stand for a positive number. Accordingly, what
is the value of C?

A) 2 B) 9 C)6 D)3 E) 18

15. — 17. sorularda verilen pargalar kullanilarak
olusturulan sekli bulunuz.

In questions 15 — 17, find the figure using given
fragments.

RauNv
@@@
A

~J



24. f

b b
Db

Yukandaki terazilerin ligii de dengede olduguna gore,
lll. terazide soru isareti asagidakilerden hangisini
gostermektedir?

All three scales above are in balance. Accordingly,
which of the following does the question mark stand
for in the third scale?

AAA® BAAA O0O00O® D)AGO® HAO

45.

—[1

Yukandaki sekil kag tane kiipten olugmaktadir?
How many cubes are there in the figure above?

A)22  B)23 C)24 D) 25 E) 26

52.
1 1 1 1
(1+5).(1+3).(1+Z) ..... (1+;)—100
A) 99 B)100 C) 101 D)199 E)200
55.
F(@E(+4)7 — 5x 20
N @Fro_,
x—1
A)-S B)75 OS5 D)-7/5 EBE)1
59.
f(x) =In(x® In(x>))
f'(e) =2
A : B 2 i 2 D E >
) Za ) 2, ) 34 )e ) 55
66.
cos75% ”
sin15°
1 1
H-1 B-5 00 D3 B



74. C

A

Sekilde ki M merkezli cember birim cember (yari capi
1 birim) dir. |AC| dogru parcasi B merkezli cembere
M noktasinda tegettir. O halde A(ABC) kagtir.

In the figure above, let the circle be unit circle with
the center M. If the line segment |AC| is tangent to
the circle centered B at the point M, than what is the
area of the triangle ABC?

1, 1 1
A)2 B)1 C)E C)Z E)§

79.

B® 6 °C
|AB|=7, |AC|=5, |BC|=6

|BD|+|DC| kag tamsayi degeri alir?
|BD|+|DC| takes how many integer values?

A)5 B)6 Q)7 D) 8 E) 10



